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QUESTION 1

A manager password is configured on an ArubaOS switch. The network administrator wants to ensure managers only
use SSH to connect to the ArubaOS switch for CLI access. Which step should the administrator complete to accomplish
this?

A. Enter the command no telnet-server.

B. Enter the commend include-credentials.

C. Enter the command ip ssh.

D. Enter the command secure-vty.

Correct Answer: A

QUESTION 2

A network administrator needs to set up a static LACP link aggregation. How should the administrator configure the
VLAN settings for the link aggregation?

A. Configure the VLANSs on the physical interface with the lowest port ID before link aggregation setup.
B. Configure the VLANSs on both physical interfaces after link aggregation setup.

C. Configure the VLANSs on the link aggregation interface after the link aggregation setup.

D. Configure the VLANSs on both physical interfaces before link aggregation setup.

Correct Answer: A

QUESTION 3

For which task does a network administrator need to access the enable context on an ArubaOS switch?
A. to view interface statistics

B. to view CPU statistics

C. to ping an IP address

D. to view configuration files

Correct Answer: D

QUESTION 4

A Virtual Switching Framework (VSF) fabric currently has two members and two physical 10GbE links in its VSF link.
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Which administrative task can a network administrator perform on this VSF fabric when both members are online?
A. Remove a VSF member.

B. Add a new 40GbE link to the VSF link.

C. Remove one of the physical links in the VSF link.

D. Change the VSF link to use 40GbE links instead of 10GbE links.

Correct Answer: A

QUESTION 5
Which benefit does Aruba Clarity in Aruba AirWave provide?

A. It provides an easily searchable network topology that includes physical wired, physical wireless, and virtual network
infrastructure devices.

B. It helps managers use the AirWave Management Platform (AMP) with its context-specific help and links to additional
resources.

C. It enables managers to view all configuration templates for APs, and switches from a single dashboard.

D. It provides at-a-glance views of issues such as DHCP request and 802.1X authentication failures to aid in
troubleshooting.

Correct Answer: A
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